s3ied dund 191®py
0€-5TZ90 “VSE€-0+Z90

10




Appendix list of Pump Parts(QGZ40— 35A)

Ser. No Part No. Part Name Qty.

1 QGZ40—35.11—1 HOSE JOINT 2
2 QGZ40—35.11-3 HOSE COUPLING 2
3 QGZA0—35.11—-2 PACKING(PLUG) 2
4 QGZ40—35—1 VALVE CASE 1
5 QGZ40—-35.2 CHECK VALVE 1
6 GB9074.15 BOLT W/S. W M8 X 20 3
7 GB9074. 15 BOLT W/S.W M8 X 25 4
8 GB3452. 1 O—SEALING RING 2
9 QGZA0—35-3 PLUG 2
10 QGZA0—35—-2 PUMP CASE 1
n QGZ40—35—14 PACKING 1
12 QGZ4A0—35-13 BEND 1
13 GB9074. 15 BOLT W/S.W M8 X 35 2
14 GB3452. 1 O—SEALING RING 1
15 QGZ40—35—-4 VOLUTE SHELL 1
16 QGZ40—35—6 IMPELLER 1
17 GB3452. 1 O—SEALING RING 1
18 QGZ40—35.4 MECHANICAL SEAL 1
19 QGZ40—35—8 SEAL PACKING 4
20 GB70 SCREW M6 x 40 4
21 QGZ40—35-7 CASING COVER 1
22 QGZ40—35A—-2 HANDLE 1
23 QGZ40—35.10 THROTTLE LEVER 1
24 GB97.1 WASHER 2
25 GB93 WASHER SPRING 2
26 GB889 NUT M5 1
27 GB6170 NUT M8 4
28 QGZ40—35A.3 RUBBER PILLAR 1
29 GB6170 NUT M5 1
30 QGZA40—35A.1 BASE 1
31 QGZ40—-35-5 UNTI VIBRATION RUBBER 4
32 GB96 WASHER 4
33 GB845 SCREW ST4.2X%X 13 4
34 QGZ40—35A.2 ENGINE 1
35 GB9074.15 BOLT W/S.W M8 X 25 4




>

=0

£
N

N,

NP

N

6% ENIONE ANITOSV) 9-d0ET

13



I |EHSYA ONITVES| T—01°S0€Dd| 69 [ 1 L90ddny 1°L9-40¥d1f 9% | € TVaS TI10| T1-2€-d40¥d1| €T
I ANVL TANA| T-6 "9-d0VHT| 89 | T | YdHSYA ¥ELEANY T-L "9-dO¥HT| S¥ | T NAHSYM HHILNY 9-9-d0vdT| €T
110 x SW MEY¥IS b yL06dd| L9 | € |MEE0S dALS LAY E-TT "9-d0FHT) ¥¥ | 1 40L10¥ 17
I HYIM dOLS 68 | T [UNOYHS WHQONITAD| € "9—d0PHI| 99 | € YAHSYA EI-dpedl| €¥ | 1 YHHSYA 1-9-d0¥HT] 0¢
1] ST x SW AFUDS b yL06ED| 88 | T 6°T1-09 x 0N ATYDS T°0LL/4D| S9 [ €| 4OHS HOLOTD|T "TT "9-d0%H1 ¥ | T [6°01-91 x 90 4TS ST'vL06dD 61
T{(=) Inanand yanvamy| €-8 "9-d0vHI| L8 | T 9 YHHSVA T7L69D) ¥9 [ € |ONTUS HOLOTO|T-TT "9-dOvHY Tt | T [ TT x SW MTUDS L9949 81
I |aNOYHS YANVATO| T-8 "9-d0¥dT| 98 | T |4HA0D ¥ATAdNN] O0T-9-d0vHI|{ €9 [T 1104 p=9-d0vdT) 0¥ | T MAHSYM [P-T "9 "9-d0PHI| LT
T[(—) INIKETE ¥ANVETY| C-8 "9-dOvHT| S8 [ T |dWOD YATAANW| CT°9-d0¥HT| T9 |1 9 YHHSYA 964D] 6€ [ T | ONI¥S SSHYd|¢-T 9 "9-d0pdI| 9T
[ [aNO¥HS ¥ANVHTY| 1 °8 "9-dOvdI| 8 [ T |4HHSYA ONITVES| 6-9-d0PHI| 19 |1 SISSVHD|T-T1 "9-d0%HT| 8¢ | T 40109 3d0¥ |9-1 9 "9-d0vAT| ST
I HdId Td0d|  L-9-d0vHI] €8 | T YHANITAD]  €-9-dOVHT| 09 | ¥ [0€ x SW MTYDS LOLL/@d) LE | 1 YHHSVA|S-T "9 "9-d0vHI| VT
I ONI¥ ADITD| T-61 €—dME] T8 | ¥ [0T x 9N ATYDS 1°0L/49[ 65 |8 ¢ YdHSYA €odd| 9€ | T | THEY YALYYLS|L-T 9 "9-d0vHIf €T
C] 85 x S MHYDS bpLO6HD| 18 | T N'1d (@D LLT) 85 | T [SSVINVE) THH INOWL | €~ " “9-AO®AT| S€ [ T [1324 2d0¥ YALYVIS[C-T "9 "9-dO¥HT| TT
T [A/SSY Y0LT8NEAYD| 01 °9-d0¥HIf 08 [ T dvD d'ld LS (] TIxgsd NId 6ITED| ¥E€ | 1 HdO¥(I-T "9 "9-d0rdIf TT
T [YaHSYR ONITVES 8-9-d0PHT| 6L [ T [ONTUS IDITD 9S | T [INTHVEE dT1CHAN| T-9 ‘dd9pvdI| €€ | T [ONT¥dS TI00TY[L-b ZE-dA0HI[ 01
T | TOLINYW LAINT| T "% "9-d0vET) 8L | T [¥gHSYA YAWNATR)| C-9-dJOPHT| S [T AHA[T-€ "ZE-A0¥HT] TE | T |A.SSY WA WALEVIS|T °T "9 "9-d0FPHIf 6
T | YEHSVA YHLOO| €-F "9-dOPHT| LL [ T [ ONTY NOLSId|S-€ “Z¢-dd0vHT| ¥S | T ['dK0D LAVHS INVHD] T °€ "9-dO0PHT 1€ | T SK LON 6cdd| 8
T TATVA LAINT ATV| € "% "9—d0bHT 9L [ T NOLSId| 1-€ "9-d0FHT| €S | T |LAASYD dVD INVI|C-T "% "9-d0PHT| 0€ [ T HdId |01-p "ZE-dA0PHI| L
T| MAHSYAM YANNI| T-¥ "9-d0vHT} SL [ T | NId NOLSId| €-9 'dd9¥HT| TS | T |vd/7009 INI¥¥AE TT¥4 9LTL/4D| 6T | T |ATANVH WALYVLS[C-t “ZE€-dd0VHT| 9
L[dVD ANVL T80 |T-C 01 "S0€Dd| ¥L [ T |dITHI) ONTY KOISTd) 10 20 "€0-d0vHT) 1S | 1 HYOLVLS 8T | 1 YALAVIS | 179 "9-d0vHTf ¢
I (I'T YANNI|E-CT 0L S0edd| €L | T L40ddnS| T1-9-d0vHT| 05 [T |SVONVE) JVH WAY| [-1 "% "9-A0¥HT| LT | T [LEWNOYD @00 | [-9 "9-40bHI| ¥
T [INGNATE ¥ANYET)] P—L "8TE—DE| TL [ € | 0T x SW 1704) €1 '¥L064D| 67 |1 L¥0ddNs S=9-d0PHT 9T | T [0S x SW ATYDS 1°0L1/49] €
I (I'T YANNI|C-C 0T "S0EDE| TL [ T | ¢T=x9W L7084 €T '¥L064D| 8% |9 9 YHHSYA ¢6 L/ddf St | 6 § YdHSVA [1°068D] €
I LAN YALTId] TOT°S0€DE| 0L | 9 |bT x SW ATYDS PPLO6ED| LY | T [PT x 9N ATUDS T0LL/E9| vT [ 8 [0T x SW AEUDS 1°0LL/49| T
1L0]  AWYN LAVd ON 1¥Vd  [06WS[ALD| EWVN 1¥vd 'ON LYV [WWHS[AD|  AWYN L¥vd | CON LMV [OUWS|ALD[ AWYN L¥vd ON L¥Vd  [ONHES

ANIONH ANITOSYD 9-d0¥HI

14



